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TARGET MATHS- 25/25

RiTu PanDey 17 hours ago
Very amazing session

e ' 5F Reply

Mohit.. 18 hours ago

Thank-you Sir for this Amazing Class of today's.. X
And

My Answer for today’'s Homework is-

Option B ==186..

Read more

e ' 5J Reply
w View reply from Mahendras : Online Videos For Govit. Exams
akanksha 35 minut

C+E=12*55-14*25=660-350=310,m:f=3:2;5=310,1=62,3=186 .... And thank u so much sir for this
amazing and wonderful session 2 #8 #3

e ' GI Reply

Aishika Ghosh 17 hours ago
186

e ' 5T Reply

» View renlv from Mahendras : Online Videos For Govit. Exams
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TARGET MATHS- 25/25

Ques- 1 :-. The proportion of acid and water in 3 samplesi1s 2: 1, 3: 2 and 5: 3. A
mixture containing equal quantities of all 3 samples 1s made. The ratio of acid and

water 1n the mixture is-

3R FAR ST o T AHAT H IThT AT 2: 1, 3: 2 3R S5: 3 81 S A1 THAT ol SIS AT
R G IE TR C B RS EID RS I T qgaN 34 THEI0T H STFeT AT ST <Al STAT ST BRTT?

(A) 133: 227
(B) 120: 133
(C) 227: 133
(D) 227: 120
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Ques- 1 :-. The proportion of acid and water in 3 samplesi1s 2: 1, 3: 2 and 5: 3. A
mixture containing equal quantities of all 3 samples 1s made. The ratio of acid and

water 1n the mixture is-

3R FAR ST o T AHAT H IThT AT 2: 1, 3: 2 3R S5: 3 81 S A1 THAT ol SIS AT
R G IE TR C B RS EID RS I T qgaN 34 THEI0T H STFeT AT ST <Al STAT ST BRTT?

(A) 133: 227
(B) 120: 133

(D) 227: 120



TARGET MATHS- 25/25

Ques- 2 :-. A's monthly income 1s three times of B's monthly income. B's monthly
income 1s fifteen percent more than C's monthly income. C's monthly income 1s Rs

32000.What 1s A's annual income?
A ST HTR T B 3t #TT6eh 311 | 19 71 2| B hi /1iéeh 3114, C o ATTHeh 3T § Ue5E

gfcrera 31ferer 81 C Y J1i%eh 311 32000 &. 21 A <hl aTfNer 3T -7 27

(A) Rs. 110400
(B) Rs. 1324800
(C) Rs. 1717700
(D) Rs. 900000




TARGET MATHS- 25/25

Ques- 2 :-. A's monthly income 1s three times of B's monthly income. B's monthly
income 1s fifteen percent more than C's monthly income. C's monthly income 1s Rs

32000.What 1s A's annual income?
A ST HTR T B 3t #TT6eh 311 | 19 71 2| B hi /1iéeh 3114, C o ATTHeh 3T § Ue5E

gfcrera 31ferer 81 C Y J1i%eh 311 32000 &. 21 A <hl aTfNer 3T -7 27

(A) Rs. 110400

(C) Rs. 1717700
(D) Rs. 900000



TARGET MATHS- 25/25

Ques- 3 :-. If the cost price of 24 articles 1s equal to the selling price of 18 articles,
what 1s the profit percentage?
fe 24 FETAT T 7T HeF 18 TS o [o05hT HeF o L &, AT AT T 1 22

(A) 25%
_ _ (B) 20%
(K7 08 (C) 33.33%
& \Q-' (D) 50%




TARGET MATHS- 25/25

Ques- 3 :-. If the cost price of 24 articles 1s equal to the selling price of 18 articles,
what 1s the profit percentage?
fe 24 FETAT T 7T HeF 18 TS o [o05hT HeF o L &, AT AT T 1 22

(A) 25%
(B) 20%

(D) 50%



TARGET MATHS- 25/25

Ques- 4 :-. A rectangular block of metal has dimensions 21 cm, 77 cm and 24 cm. The
block has been melted into a sphere. The radius of the sphere 1s (Take p =)

Ueh YT o SATIATRI scATeh o 719 21 G, 77 T TAT 24 HHT 8| 39 oA Th shi BTt T
T ST TTT 8| AETER (AR p = ) I TIied ol B3 fehaft g1t

(A) 21 cm.
(B) 7 cm.

(C) 14 cm.
(D) 28 cm.




TARGET MATHS- 25/25

Ques- 4 :-. A rectangular block of metal has dimensions 21 cm, 77 cm and 24 cm. The

block has been melted into a sphere The radius of the sphere 1s

T U1 & HAATHR D & AT 21 FAT, 77 FHAT A
24 T & 3T <clich ol TUIATHRT Th Ml FATIT IR—AT &}

JeJaR 39 el hr AT fehdAr grafr?

(B) 7 cm.
(C) 14 cm.
(D) 28 cm.



TARGET MATHS- 25/25

Ques- 5 :-. The compound interest on Rs 5000 for 3 years at 10% p.a. will amount to -
& 5000 U 3 FNT AT 10% TR oh! G IR FAsha[ (5, SATST [ohc-T TTT?

(A) Rs 1654
(B) Rs 1655
(C) Rs 1600
(D) Rs 1565
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Ques- 5 :-. The compound interest on Rs 5000 for 3 years at 10% p.a. will amount to -
& 5000 U 3 FNT AT 10% TR oh! G IR FAsha[ (5, SATST [ohc-T TTT?

(A) Rs 1654

(C) Rs 1600
(D) Rs 1565



TARGET MATHS- 25/25

Ques- 6 :-. Find the largest positive integer that will divide 398,436 and 542 leaving

remainders 7, 11 and 15 respectively?
ed ST YTk qUTTeh JT hiSTg, TSI foh 398, 436 3T 542 1 I & WEHAST: 7, 11 3R

15 9% ITH &1

(A) 12

_ | (B) 13
/f /“:\ (C) 15
N (D) 17




TARGET MATHS- 25/25

Ques- 6 :-. Find the largest positive integer that will divide 398,436 and 542 leaving
remainders 7, 11 and 15 respectively?

ed ST YTk qUTTeh JT hiSTg, TSI foh 398, 436 3T 542 1 I & WEHAST: 7, 11 3R
15 IS ITH &I

(A) 12
(B) 13
(C) 15



TARGET MATHS- 25/25

Ques- 7 :-. If the square of the sum of two numbers 1s equal to 4 times of their product,
then the ratio of these numbers 1s

fohegil &1 BTSN o I ohT 11, 3ok UM oh =R T o S @ dl 3 §EA13A! 3h1 ST &

(A)2:1
(B) 1:2
(C)3:2
(D) 1: 1




TARGET MATHS- 25/25

Ques- 7 :-. If the square of the sum of two numbers 1s equal to 4 times of their product,
then the ratio of these numbers 1s
fohegil &1 BTSN o I ohT 11, 3ok UM oh =R T o S @ dl 3 §EA13A! 3h1 ST &

(A)2:1
(B)1:2
(C)3:2



TARGET MATHS- 25/25

Ques- 8 :-. If one-third of a two digit number exceeds its one-fourth by 8, then what is the

sum of the digits of the number?
e a1 3TenT ht G T Teh fIETS 37U Ueh-<Ts § 8 3710k 2, 1 Tl & 3okl ohT AN T 27

INRY
(B) 15
(C) 16
(D) 18

/\\

j Tl -
A Q:] |8 [




TARGET MATHS- 25/25

Ques- 8 :-. If one-third of a two digit number exceeds its one-fourth by 8, then what is the

sum of the digits of the number?
e a1 3TenT ht G T Teh fIETS 37U Ueh-<Ts § 8 3710k 2, 1 Tl & 3okl ohT AN T 27

(A) 12

() 16
(D) 18



TARGET MATHS- 25/25

Ques- 9 :-. If 6 men can do a piece of work in 20 days and one man can do the work of
two boys, then in how many days can 10 men and 5 days do the same work?

gfe 6 TTeHT Teh 1 okl 20 foaT | T Hehd &, 3T Ueh TTSHT &1 TSR oh SIS ShTH T Hahd|
2, dl 10 3TTeHT 31T 5 T ST 1 T fora faat o gome shit?

(A) 8 days

(B) 10 days

(C) 12 days
3

D) 9—d
(D) cdays
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Ques- 9 :-. If 6 men can do a piece of work in 20 days and one man can do the work of
two boys, then in how many days can 10 men and 5 days do the same work?

gfe 6 TTeHT Teh 1 okl 20 foaT | T Hehd &, 3T Ueh TTSHT &1 TSR oh SIS ShTH T Hahd|
2, dl 10 3TTeHT 31T 5 T ST 1 T fora faat o gome shit?

(A) 8 days
(B) 10 days
(C) 12 days



TARGET MATHS- 25/25

Ques- 10 :-. The difference between compound interest and simple interest on Rs. 2500

for 3 years at 4% per annum 1s -

2500 &. 9 2 AN o TeTT 4% STiYeh &L W shafg, SATST I ATIRIT SIS Rl ST T &2

/\\

f Tl -
: Q:' ()3
A \ i /a/

(A) Rs.4.25
(B) Rs.4.5
(C) Rs.4.0
(D) Rs.4.10



TARGET MATHS- 25/25

Ques- 10 :-. The difference between compound interest and simple interest on Rs. 2500

for 3 years at 4% per annum 1s -
2500 &. 9 2 AN o TeTT 4% STiYeh &L W shafg, SATST I ATIRIT SIS Rl ST T &2

(A) Rs.4.25
(B) Rs.4.5

(D) Rs.4.10



TARGET MATHS- 25/25

Ques- 11 :-. In how many different ways the letters of the word "LANGUAGE" be

arranged?

3¢ "LANGUAGE" o 378 ! foraq fafsr=1 yerm @ sxafeyd ferar st gepar 2 2

/\\

f Tl -
: Q:' ()3
A \ i /a/

(A) 20160
(B) 10080
(C) 5040

(D) 15120



TARGET MATHS- 25/25

Ques- 11 :-. In how many different ways the letters of the word "LANGUAGE" be
arranged?
316¢ "LANGUAGE" % 3788 ol Toha T Jeh X § ISR TohaT SIT HehdT & 2

(A) 20160

(C) 5040
(D) 15120



TARGET MATHS- 25/25

Ques- 12 :-. A reduction of 10% in the price of a certain article enables a shopkeeper to
obtain 25 kg. more for Rs. 2250. The original price per kg of the article was-

forelt &g o T | 10% %1 FHl 8 W T THMaR 2250 &, H 25 foram. sferes @l weha 2|
& ST HA e Wil fohuT. oT-

(A) Rs.8
(B) Rs.9
(C) Rs.10
(D) Rs.11




TARGET MATHS- 25/25

Ques- 12 :-. A reduction of 10% in the price of a certain article enables a shopkeeper to
obtain 25 kg. more for Rs. 2250. The original price per kg of the article was-

forelt &g o T | 10% %1 FHl 8 W T THMaR 2250 &, H 25 foram. sferes @l weha 2|
& ST HA e Wil fohuT. oT-

(A) Rs.8
(B) Rs.9

(D) Rs.11



TARGET MATHS- 25/25

Ques- 13 :-. The LCM of two number 1s 44 times of their HCF. The sum of LCM and
HCF 1s 1125. If one number 1s 25 then other number 1s-
a1 ST I AHT., HHT. ol 44 T & HEY. X AHI. AN 1125 Ffe Th €&AT 25 3,

a1 gEl HEAT T shifsT)

(A) 1100
(B) 975
(C) 900
R




TARGET MATHS- 25/25

Ques- 13 :-. The LCM of two number 1s 44 times of their HCF. The sum of LCM and
HCF 1s 1125. If one number 1s 25 then other number 1s-
a1 ST I AHT., HHT. ol 44 T & HEY. X AHI. AN 1125 Ffe Th €&AT 25 3,

a1 gEl HEAT T shifsT)

(B) 975
(C) 900
(D) 800



TARGET MATHS- 25/25

Ques- 14 :-. If a, b and ¢ are real and a’ + b’ + ¢ =2 (a—b — ¢) — 3, then find the
value of (2a+3b—c¢)?

i a, b AR ¢ AFATTR GEAT M a’ + b2 +c2=2(a—-b—-c) -3 8T (2a+3b —c) T
AT ZRTT?

(A)0
(B) 1
(OF
(D)9
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Ques- 14 :-. If a, b and ¢ are real and a’ + b’ + ¢ =2 (a—b — ¢) — 3, then find the
value of (2a+3b—c¢)?

gl a, b 3T ¢ ATEATAR FEAT M a? + b2 +c¢?=2(a—b—-c)-3 a0 (2a + 3b —¢) &T
AT ZRTT?

(B) 1
)3
(D)9



TARGET MATHS- 25/25

Ques- 15 :-. If AABC and APQR is similar and their area are 64 cm2 and 121 cm2
and QR =11 then BC is-

Ife AABC 3T APQR THEY g 3T 37eh QITeT 64 I THT, T 121 T AT, 3T QR
=11 ®, 91 BC BIT1-

(A) 8 cm
(FTS——% (B) 12 cm
: \.5 2 ': (C) 10 cm
EVN // (D) 11 cm
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Ques- 15 :-. If AABC and APQR is similar and their area are 64 cm2 and 121 cm2
and QR =11 then BC is-

Ife AABC 3T APQR THEY g 3T 37eh QITeT 64 I THT, T 121 T AT, 3T QR
=11 ®, 91 BC BIT1-

(B) 12 cm
(C) 10 cm
(D) 11 cm



TARGET MATHS- 25/25

Ques- 16 :-. A shop keeper offered a discount of 9% for and article but he marked it
at 25% higher than the cost price. Find his profit percentage ?

Teh SRR Ueh &G W 9% ol T AT ¢ Tifehd 98 3l Hod | 25% 3Ateres sifora wntar
& T IR T TTA9Ta 31T hITTT 2

(A) 12.5%

(B) 13.50%
(C) 13.00%
(D) 13.75%
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Ques- 16 :-. A shop keeper offered a discount of 9% for and article but he marked it
at 25% higher than the cost price. Find his profit percentage ?

Teh SRR Ueh &G W 9% ol T AT ¢ Tifehd 98 3l Hod | 25% 3Ateres sifora wntar
& T IR T TTA9Ta 31T hITTT 2

(A) 12.5%
(B) 13.50%
(C) 13.00%



TARGET MATHS- 25/25

Ques- 17 A sum becomes 3 times 1n 5 years at a certain rate of interest. Find the time in
which the same amount will 9 times at the same rate of interest.

Teh GRIIRT T2 oS a0/ 5 i | 3 71 &1 Sl 21 fobel S | St ST SHt 1T ot
T 9 T &Y STt

A) 20 years
(B) 25 years
(C) 30 years
(D) 35 years




TARGET MATHS- 25/25

Ques- 17 A sum becomes 3 times 1n 5 years at a certain rate of interest. Find the time in
which the same amount will 9 times at the same rate of interest.

Teh g7 T2 saTst @08 5 a9t | 3 71 &1 STl 81 A fehd 9 | 98 ST 3HT s27s &
T 9 T BT ST

(B) 25 years
(C) 30 years
(D) 35 years



TARGET MATHS- 25/25

Ques- 18 The age of a man 1s twice the square of the age of his son. Eight years hence,
the age of the man will be 4 years more than three times the age of his son. Find the son's

present ages.

Teh STTEHT oh I, AT T 2hi 3 o 71 shl & T 21 8 T o s1Tq IATGHT ohl 1Y T shl 31T
o1 T T | 4 3 ferek g1 A1 O R ST ST T SIS

(A) 5 years
(B) 3 years
(C) 4 years
(D) 6 years
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Ques- 18 The age of a man 1s twice the square of the age of his son. Eight years hence,
the age of the man will be 4 years more than three times the age of his son. Find the son's

present ages.

Teh STTEHT oh I, AT T 2hi 3 o 71 shl & T 21 8 T o s1Tq IATGHT ohl 1Y T shl 31T
o1 T T | 4 3 ferek g1 A1 O R ST ST T SIS

(A) 5 years
(B) 3 years

(D) 6 years
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Ques- :19 The ratio of the measure of an angle of a regular octagon to the measure of its

exterior angle 1s-
Teh §H STUYS] o 10T HTY ST $67eh STl IV shi HIT H T AU &7

(A)1:2
(B) 1: 3
(C) 2: 3
(D) 3: 1
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Ques- :19 The ratio of the measure of an angle of a regular octagon to the measure of its
exterior angle 1s-
Teh §H STUYS] o 10T HTY ST $67eh STl IV shi HIT H T AU &7

(A) 1:2
(B) 1: 3
(C)2: 3



TARGET MATHS- 25/25

Ques- :20 The radius of a circle 1s 9 cm and length of one of its chords 1s 14 cm. Find the

distance of the chord from the centre -

Ueh 9 <hl FISAT 9 THT. & ST g8k Teh STa o6l o 14 Tefl. 2 d o6 © Sfia g8 fopaft 2

(A) 6.4 cm.
(B) 5.6 cm.
(C) 5.0 cm.
(D) 4.8 cm.
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